Company	M/s. AMTZ ME	M/s. AMTZ MEDPOLIS SQUARE 801 PV1. E1D	PVI. LID Nature of work	granite		Dt. site bills reg.	reg.	18-02-2025	
Block no.	AMS801		Work done from date 13-02-2025	le 13-02-2025		M-codex bill ID.	ID.		
WO no.			Work done to date	18-02-2025		WO issued?		YES	
WO date			Contractor bill no.			GST bill required?	ired?	YES	
Prepare by.	Sultan					•			
SL No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
-	AMS801	granite cladding			1,628	sft	TF212	45	73,260
2		chamfering			3,256	₽	TF215	15	48,840
ω		polish			3,256	₽	TF225	18	58,608
4				¥1	8				
5									
6									
7									
∞									
9		·							
10			X						
111									
12									
13						9			
								Total	1,80,708
							Add GST @		
					Total	Total amount including taxes for work done	ding taxes fo	r work done	1,80,708
Remarks:	Work completed	11/11/1	Approved by OS team	-		Approved by Director/E&D team	Director/E&D	team	
Sion:	Sign.	1 July	Sign:			Sign:			
0		2 6/1/10	Date:			Date:			

ESTIMATE SHEET	T				Approved by: N. Leela Ve	J. Leela Venkatesh
Company Name:	M/s. AMTZ MEDPOLIS SQUARE 801 PVT. LTD.	E 801 PVT. LTD.				
Project:	AMS801					
Work Description:	Granite work					
Prepared By	Sultan ali					
Date:	07-03-2025					
S No. Item Head	cad Item Description	Quantity	Units	Rate	Amount	Item Head Total
1 window door jams	or granite cladding	1,628	Sft	45	73,254.24	
2	chamfering	3,256	₽	15	48,836.16	
3	polish	3,256	?	18	58,608.00	
						,-

onstruir

<u></u>	3 1	2	1				1	-												-	S No.			Frepared by		Contractor	Work Description:	Project	Company Name:
-																				Granite work	Hem Head			y.			aiption:		Name:
polish	Semprem 8	hamphoring			The second secon															window jams	Item Description			Summan an	The state of the s	heserd nebraner	granite work	AMS801	M/s. AMTZ MEDPOLIS SQUARE 801 PVT. Approved by
	-		11	:	6.56	16.4	25.42	14.432	017.	7,316	=	3	7.216	14.432	7	E	1	^	17		Length		^						SQUARE 801 PV
_	1		-		-	-	I	1	-		-	_	-	-	-	1	-	-	-		Width		В	Date:	Work end date:	TOTA SIGN WHILE	Work start 1	Sign	r. Approved by
<u>,</u>	1		5.24	5.24		5.24	5.24	8.2	5.24	1	5.24	-		200	5 248	1	5.248	-	-	mgran.	Hatel	1	0		e.	ic.			
_			2	_	,	2	2	2	2	-	2	-		١,	3	-	2	-	1	NOS		1	1	1		-		1	
1	1		4	72	2	3	I	1	2	4	2	-	2		;	5.	*			No of windows		D	2002 -00 00	18-02-2025	18-02-2025	18-02-2025		N. Leela Venkatesh	
3 756	3,256		130	519	8/	07	61	45	50	48	65	8	79	294	8	5 5	164	18		Quantity		E=AxBxCxD							
•	∌	Sft	sft	sft	stt	110	4	sft	sft	sft	sft	sft	sft	sft	sft	SIL	-	sfr		Units		F							
2300	3.256	1,628																		Total	Hem Head	G=Sum of F							

Allowance For Consumables priyanke devi vishakapatam Amtz

Date: 25.01.24

In favor of:

Amtz medpolis square pvt.ltd Ams 801.

Project/Site:

Ams 801

Location:

vishakapatnam

Type of Work:

Granite work

Towards

Allowance For Consumables

S.No.	Discription	Amount
1	Breif discription of work: Towards window soffit and jam work	36,142
	Total amount: 1,80,708.00	

Amount in Word: Thirty six thousand one hundred forty one rupees only /-

Ciam.	
Sign:	

Labour Charges priyanke devi vishakapatam Amtz

Date: 25.02.2025

In favor of:

Amtz medpolis square pvt.ltd Ams 801.

Project/Site:

Ams 801

Location:

vishakapatnam

Type of Work:

Granite work

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of wo	rk: Towards granite window soffit and	72,283.20
	Total amount:	1,80,708.00	

Amount in words: Sixteen thousand thirty one rupees only /-

Sign:	

Allowance For Equipment priyanke devi

vishakapatam Amtz

Date: 25.02.2025

In favor of:

Amtz medpolis square pvt.ltd Ams 801.

Project/Site:

Ams 801

Location:

vishakapatnam

Type of Work:

granite work

Towards:

Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work: and jams work	Towards granite cladding window sofit	72,283
	Total amount:	1,80,708.00	

Amount in Word: seventy two thousand two hundred eighty three rupees only /-

Sign:			
oign.			